KB ETEEREZ BT SPAGHR B Siat R
#FGEHEA 106877

#h 75 ARE (FTEGTTARE ) HIA

A &P AR ZE (=118
FIfig 0 0
G 0 0
BE 0 0
] 0 0
HEs 0 0
=i 0 0
By 0.00% 0.00%
% 7 FH S e AR e 2 T B A 2 R T AR T B A A 6 -
B ETBUER IR
HA KT E AR ZE (=118
FlfiF 0 0
b/ 0 0
BE 0 0
dE| 2 2
BRI R 0 0
8 (1\)%)%@%’&%}%’% 0 0
o QAL BfFATE 0 0
/Net+2) 0 0
& 2 y)
By 0.00% 0.00%
B GOEBRFEE) 0.00% 0.00%




HEMEABRAE

PR B EERE &3

iR 0 0 0 0

iE 0 0 0 0

] 9 6 1 16

# (DFEH 0 0 0 0
4 Q5% RfFEARE 1 4 0 5
INET(142) 1 4 0 5

&3 10 10 1 21
S 10.00% 40.00% 0.00% 23.81%
BR (GUk#HEE) 10.00% 40.00% 0.00% 23.81%

* TREMEETE | TR B S A A SR 33 R 1R E AT A RS B n TR R 38 15 &

= = 1T BUABE AR

P RS S| HAE A =t

Nz 0 0 0 0

vl 1 5 2 8

] 0 0 0 0

BEE R F 0 0 0 0

=t 1 5 2 8
6 0.00% 0.00% 0.00% 0.00%




LB ETEERZ B G S YOER AR B St F
BRGEE 1 1066E1 7 27

# 5 7ERE (TEETEARE ) HIR

A & AR =t11
FIfEE 0 0
=] 0 0
BE 0 0
BA] 6 6
HEH 0 0
(=t 6 6
e ES 0.00% 0.00%
O S AR 7 2 T EGFA it 77 A T BT ARE EHE -
B FTBUABE AR
HAnE AR =til
1A% 0 0
el 4 4
®E 0 0
el 26 26
BEFE I IR 0 0
5 (DFAEHE 2 2
- QL% FEARE 2 2
/Nat(142) 4 4
(=t 34 34
6o 11.76% 11.76%
BERE (kRS E) 5.88% 5.88%




BRI EEBR A

P RS El EERE =1

i 0 0 0 0

EE | 0 0 1

5Bl 51 32 2 85

) (DFE s s | | 0 2
8 QEL AfEAE 10 18 0 28
/NEF(142) 11 19 0 30

=t 63 51 2 116
6 17.46% 37.25% 0.00% 25.86%
B (HEHEE) 15.87% 35.29% 0.00% 24.14%

T IRHIETESIE | B IR E E A S 3R | E I aTaAPS B n e g 36 157

B = 1T BUABRFIA

P BRI H A OF AR =

A2 0 0 0 0

§t[a] 43 27 15 85

Ei6a] 0 0 0 0

BEE R F 2 1 0 3

=t 45 28 15 88
R 0.00% 0.00% 0.00% 0.00%




